®
SHIELDER
PROFESSIONAL TOOLS (J“l. F:nena*/\]Fz (3(]"VGF>F2EEE;E;()1Q:

10, 24 , 50 Liter
Models:SH-F-1010 ,SH-F-2510,SH-F-5020

14

¥ )
d -
& , | |

38 ~ 32 2

© B = 48

o | 4
40
| | 46
41 42 | 43 44 45 |

SYMBOL OF POWER & SKILL e WWW . S 1€ A €T1O00IS.COM



®
SHIELDER OIL Free AIR COMPRESSOR

10, 24, 50 Liter
Models:SH-F-1010 ,SH-F-2510,SH-F-5020

No. Parts name No. Parts name
1 | wind cover 29 | stator
2 | left fan 30 | holding screws
3 | left case 31 | rotor
4 | connection rod 32 | high pressure soft tube
5 | piston leather cup 33 | holding screws M6
6 | pressing plate 34 | shock-relief gasket
5 He):agon socket head cap screws 35 | metal capacitor
M6*20
8 | cylinder 36 | capacitor
9 | cylinder sealing circle 37 | wheel axle
10 | silencer 38 | wheel
11 | connection head sealing circle 39 | flate gasket
12 | cylinder head 40 | wheel axle holding screws
13 :Ines):ggon socket head cap screws 41 | observing hole
14 | connection pipe 42 | Oring for observing hole
15 | connection pipe sealing circle 43 | drainage valve
an head screws with cross :
16 lpecess M4*6 44 | air tank
17 | limiting stopper 45 | washer holding screws
18 | air outlet valve clack 46 | big goot washer
19 | valve plate 47 | foot washer holding screw cap
20 | air intake valve clack 48 | power cable
21 | metal gasket 49 | check valve
22 | crankshaft 50 | magnetic valve
23 | bearing6006-2Z 51 | Y50 pressure gauge
Hexagon socket set screws
24 | i tiat ooint M8*10 L | il v
25 | right case 53 | pressure switch
26 | lap hoop 54 | Y40 pressure gauge
59 Hexagon socket head cap screws 5c pressure adjustable oil water
M5*150 separator
28 | flat gasket 56 | safety valve

SYMBOL OF POWER & SKILL www.shieldertools.com



